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. The least number which when divided by 5, 6, 7 and 8 leaves a remainder 3, but when

divided by 9 leaves no remainder is

(A) 1678 @/1683

(C) 2523 (D) 3363

5, 6, 7, 8 g auguEd Gung B 3-0 e augu@D Curg BE LR aupésmigu Ass Sl

| GTET 60T T2
(A) 1678 (B) 1683
(C) 2523 (D) 3363

- The simple interest on Rs. 68,000 at 16< % per annum for 9 months

(A) Rs. 1,200 | (B) Rs. 8,050
o Rs. 8,500 (D) Rs. 1,020

e (iéE 164 % eisb 68,0006 9 wrgsdpsran safl ol igwireng
(A) e 1,200 ~ (B) m 8,050
(C) . 8,500 (D) m. 1,020

The mean of 5 numbers is 25. If one of the number is excluded then the mean becomes 20.

The excluded number is

o 45 | ®) 40

(@ 20 (D) 10

5 cransafleh sl Er:IlI’EIﬂ 25. saipfie Q@ps e carman fidemnd sapfear s @agrsf 20
e BaatiulL aeramans
(A4) 45 (B) 40
€ 20 (D) 10
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A) 1 E | {I?/ﬂ'

3
[
B
to =

1+ [ﬁ% e % uriits ] *%Eiﬂ wdIUTaTE

(A) 1 By 0
: 1
c 2 () 2
5. If8~5 xd =44 and 15-3 x3 =48 then 16 —-4x5 =
(&) 60 ' (B/Eg
c D 4

85 xd =44 whpd 16 -3 x3= 48 creldd 16— 4x5 = ancirs.
{A) 60. - : {B) €9
< - | ) @ 4

6.  The value of J243+J52+4144 is

Ay 14 . : _ {B/ 16

c 18 | (D) 26
Y248+ 452+ 144 & wfuurens
A 14 ’ By 18

(€} 18 : ' (D 26
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" Four of the fﬂlluwmg five. are alike in 2 certain way :-:lnd_ 80 form a group. Which 1 the one
that docs not bclung to the group. '

11, 13, 15, 17, 19

@ 18 - (Bi/ 15

L ©. 1 o @ 19

EIEQJEEMI_ 5 erefraadld 4 STERTEGT {1 @gr}]u G Lremrme) {5 et Bl @@ e T DE. @1&5@@@@5

-G&i;rrrga TR aTEF? - . 1 _. .
11,13,15, 17,19 © . SR - - . R
@A) - 13 | . B) 15 5

© 17 S O 19

If DIAMOND is cudcd as GLDPRQG then SYSTEM is coded is
(Ai/ VBVWHP a _ (B) VBVWOP
© VBWVPH . (D) VBOWPV

DIE_MDND Ermug.l GLDPRQG eremé @ MuTH Ao’ L rd SYSTEM uarmug,m @Lﬁ]uﬁ@
(A) VBVWHP- : T . By VBVWOP
() VBWVPH . Dy VBOWPRV

A building is in the form of ﬁ hollow hemisphere of outer radius 100 m and thickness of wall.
i 1 m. If cost of painting 1 sg.m. is Rs. 5 then total cost of pamtmg both the c-uter and inner

walls of the hmld‘mg is (Take #=2% 22 )

(A Re. 125,000 . (B) Rs. 2,566,000
(€) . Re.5,16,126 | | o Rs. 6,22,317

(b 8y LD SAewrsGamer augalleb ¢ amengl. Deueflyn 2b 100 8. saufldn giyioen 1 . g Fmy ST
| GEW(EE SUTETD | & S Llgany wp. 5 aafld, QLDrrg,—.g o LI iDL G'Isua’ﬁqm FEUTHENET GUTEITLD | L&

<@ Gords Qeway (7 =22) _
(A) - Rs. 1,25,000 . . (B Rs. 2,56,000
(C)  Rs. 5,16,126 . @ Re 622,317
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10. Three numbers are in the ratio 2 : 3 : 4 and their H.C.F. i3 10. The numbers are
(A) 10 20 30 ' _ ' {B) 40 EEI_ a0
¢y 30 20 40 ' o Dy 20 30 40

@pﬁry eremasaflen efldlsd 21 3 1 4. amm&aﬁm & Glum cu. 10 erarilay, Bi B CTERT&HET

(A 10 20 30 : By 40 20 30
() 30 20740 - : (D3 20 30 40

11; - Study the grhp‘n carefully and answer the gueation :

item{s) has maintainaed a rise over three wecks'

100 r==mevmmmnn FRREEEEECEREEEEEE

T e
501 -um------- - ------
25 ] EEEEEE
0 i - faKbich T
Weck [ Weefl_{ II WeekIll
RGY (a) and (b) ' ) ' {8) (b and(g)
(o () and (a) - . (D) (c)only

QUEHTLIL SEEE Heuanons <,rmipbg edlen wef]

ELPE) ST Sghih llenmin Cumasar

i T

BO 4o oe--

26 o

o1 Bl bl
f@HEIch T @GNS | Ebe) '
aurn;u_.‘nl_ guttpn IT summn 111

&) @uwppb® B ) wppd )
O (O wppd @) . . D) @uiEn
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12.

13.

14.

15.

The volume of the hemi sphere is 1152 7 em” then the curved surface area of the hemi

sphere is

(A) 242 7 em?

(Cyfl 288 7 em?

(B) 208 xem”
{tl] 338 7 em”

@it engGananglan san-seteay 11562 7 em® ereflay SEET EUEnaThS HeueTurlden LuFliuaTay

(A) 242 xem?
(C) 288 zem™

The dimension of Minkowski's space
(A& 2
c 1

WlenGamaudl Heuetuller uflwmemn wrg?
A 2
0y 1

(B) 208 7 cm?®

(D) 338 rem”®

Sodium chloride 1s an example of

(Ayl Ionic
(C) Metallic

crystal.
(B Cowvalent
(D} Vander waals

Gamgwibd @Carmeanyl Lilgeuld
(A) jwell Senemmiy
(C) e2CGarslGenamriy

Uiy S5l en eTHamEaTL ([
(B) #& Senarmiy
(D) curalri sumed 1enemriL

What remains constant in carrier wave in frequency modulation?

(AI Amplitude and phase
(C) Frequency and phase

(B) Wavelength and phase
([} Amplitude and frequency

sarrdl yenaasaticd oyfrtleuem uanGupnsslen Guing ereneu wrilellwimgb?

(A) &lids LD SLLD
(C)  myflirbleuaim wmHmybd &L 1D

(B)  syensufemd wimib &L 1

(D) efigs womib <ydrtleues
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16 Which plasma protein is used in Antibody '.furmatiun?
(A)  Albumin -~ @@ Globulin
{C} Fibronogen . () Thrombin

6T denmeismyn g Cumi ATy Qummear o mmaurs LoD mE?

(A oyl (B) sCaadlen

{_C} anU A Cemger (1) &GpmoSen
17. Duri.ng- expiratiuﬁ nl:lr,bﬂdy loss of water amount

AW 400 m.] | (B} 300 m.]

(C) 200m.l (D) 100 m.)

Jaefiracunssflan Cungy pmo semmmih @upsslufub Flfldr oerey
(A 100 B.d. (I 300 A.ed,
() 200 6. (D) 100 568,

18. Biomedical wastes are managed by
(A} Bioremediation - (B) land fills
[C/ Incineration {IN Surface impoundments

2 W3l wges Sflasd SHPESLLGL WD
@ edfosbio C® Papse frouss
Gy afigms smbunksd . (D) CuiurdSd apy@augsd

19.  What is stored by Elaioplaat? -
fAY  Protein _ (B/Lipid
{Cy  Carbohydrate (D) Sugar

anaCumlarmevganrd Gaudsslnun Qumggen aréaen?
{A) ygsb {B) &fludc
) smniGuneran Grl (D) e#n&senny
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Which alga is used in space travel to remove COz and other body wastes?
(A)  Volvox = o Chlorella

() Eudorina . (I Chlamyvdomonas

elemGlauail LwemsdlanGrng aniuem-amL-sypSmean( LHmD o adldmbs Geafiumeh sfla
Hummplsenar HeauaflCWnm & sailb g o1 ?
(A)  eumaieumda (B) @CamGreaon

(Cy WG rmengenn (D). &amAGLrCGomemen

The heaviest naturally ﬂﬁcuring elé_m{:nt 15
(Al Uranium - I (BY Tron

{(C)  Aluminium (D) Silicon

@ sanorer, ubasudd srantiQupd o Gansb
(&)  wCreflub : B) Emby

(C} . mayflefluin (DY Sdlssmem

In Schotten-Baumann reaction the produect is
aw amide (B) imide

(C) ester (D) oxime

suanLen-Ueublioen eflenaruilsh eflanemellenar GLimmer
(A) SamLo(f) (B) @eaw(m

(C)  erevLi (D) =ysmeun
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23. ¥ Pink revolution” is assuciate& with

U’V Fruits ) (B) Crops
(C) Dairy farming ' (D) Flowers

“Eererflaucsy 4 Glamdn QEmfyeswg

(A) . saflsdr (B) * wiSisen
(C)  umé Ueenast Geme : {1} weiser
24.  Moise level is measured by an instrument known as
{A) Hygrometer {(B) Seizmogram
(CJ Decibel meter (D) Thermometer

FLgGSEen sjarefiaen Siamefll LwenLBh smmefluiidr Quur
fA} .mméﬂvn Soor (B} EeruGur Srmo

{©)  Qudlua BLr (D)  @gituon B

25. Whichis the lﬁrgest mangrove forest in Inﬁ?
_ (A/ Sundarban '
(B) Pitchava;:'am
(C) Muthupet
(D}  Gulf of mannar

Byl il e ﬂaﬂ@uﬂm .ﬁmwmnﬁﬂ& EAEET sréf?
(&) shspacs snpsdr |

{B) Aseraumb stpsdr

(©) apsmuCulen srpser

i wenemy QUGN
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26.

27.

As per National Sample Survey (N8S) 27 round in India ~—— ———— of the rural
population has no skills at all. ' :

aW 91% (B} 70%

©)  84% - D) 94%

Gadw wrdf wldiSlyer vy (NSS) gam 2Tag spda BsHureadley : D&
Fpaonuppensars Gumédnnract crendpg,. _

(A)  91% ' (B) T0%

(©)  84% ' o 94%

Statement] :  The maqney creation multiplier is equal to the reciprocat of the -

minimum reserve ratio

Statement 1 The banking system aa a whole can grant new cretlit up to an amount
of excess reasrves

[A/Bc}th statements are individually true and statement II is the correct explanation of

statement I . ‘

(B) Both statements are individually true, but statement [ is not correct explanation of
statement |

(C) Statement I is true, but statement IT is falsc

(D) Statement 1 is false, but statement II is true

Sapm | : var cmarss doumsd aaug soonps ooy dAdsgda gaalp
: s nE sooratg

sa sy I1 : gl'.@ Qurgg suiidl seosuUreng MseeLw Hfslugwnra @muSHEedr

: yHu 5L cnsame aprsams

{4 Brenr® sonpsEsCe saflisalGu -_El‘f'lmnmmm Cugnd spm I spp I &3 #furen
efler&aLbm@Eb ' :

B) Gren sonsgEGun safifsgaflCu sunramer Cognbd mom I smpp [ &5 Flﬁu.ll'rﬂ.T_

© ellandEwedes '
{(Cy  apml aﬂu.:rrarrgi. Zpennch sy [ geummeng
D) mpplgeunray, spard spm [1 sflumeg - _ ~

S11 : LAGS/19-
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28.  Fiszcal deficit 1 equal to
{ﬁ.}, Revenue receipts + Capital receipts — Total expenditure
(B} Market borrowing and other liabilities
(C} Revenue receipts — Intergst payments

(D}  Revenue receipts + Investment

zﬂ@ud;mﬂéﬂfﬁmm aTeLig)

{A)  eumwonen pfg + apash ndgy — Quongs Qasey

(B}  smsmgifid s eurii@sd wHmb sy Aungojsea
{C) m@mrr@ 78z — au' g QAsaelland

Iy eugmwren 1&g + apsdBadr

29.  The lood corporation of India was set up in the vear
{A) 1962 (By 1963
© 1964 ' Oy 1965

: @_{bﬂu-ﬂ_méqé E-Epém (LT T TN TR TRy (h

(A) 1982 " (B) 1963
G 1964 D) 1965
30.  Which one of the following is called as the ‘Instrument of inatructions’?

(4) Preamble _

{B) Fundamental rights

{C}) Fundamental duties

O Directive principles of the state policy

&Qé&a&sﬁn_mﬁ}guét.srﬂ Sl eum e Hmedl GTEHT) SenpEaEL U (Hdns? |
(A)  qpasyeny

(B .ﬂil.q.l;luiml._ e Ao

(C} sgloen &L anosen

D) sfen anflsm’ G Qg flser

LAGS/19 _ 12



T,

33

The maj.ur theme of the recommendations of Sing]wi'cmnmitmu s
(A) Decentralisation

() Community development programme

(CI Revitalisation Panchavat institutions

(I Women reservation .

el @wip uilhgenrullen Apssiu s(meuTeng)

(A) SSlaEmriuraud.

(B)  spps auaridéls £ Cib

(Cy . o aranmi ) o remismise e (b 2 uilf HupanaluLg

(D)  GuensEnssrean G asIE50

"i‘he National Commission for women was set up in the year
(A) 1991 ' e 1992
(Cy 1993 - (DY 1994

Cafl Cuansdr ayenemmub Elmeu oo L e E
(A) 1991 , B) 1992
(©) 1993 (D) 1994

Whicﬁ of the following committee is associated v.;ith central vigilance commission
(A) Sarkaria Committee

(B) Mandal Committee

(G K. Santhanam Committee

(D) S.K. Dhar Committee

W&EIWL seiorsnent VL] penaTiD S &S @ipella) eTHe L e AeTL L L)
(A) FTEETTIL G

B) e d B(p

©) K spgmemd 6w

D)  SK sriEug

13 - " LAGS/19
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34. .The executive officer of the "Cant,nnmeril; board” is appointed by whﬂ_m? _
(A) - by the District Coltector o (B) By the District Judge
'(C) Bythe Prime Minister =~ (D By the President

garGLrenAem mnﬂmgﬁ]m Fana)eut mngrrm AlaLngn Qamu_luu@ﬁmgj?
(A)  wreulo q%l_ilu.m (B) el ﬁ;ﬁuﬁﬂ
() dlrso Lng;g;lﬁf B : {3 gmrr'@ugl Fi (Sl WITEE g,mm@fr

a5, Which commlttee recummended that the seats fof SCs and 5Te should be reserved o the
bams of their pnpulatmn in Pancha} at Raj?

{ﬂ} Balwant_ Baj Mehta Committee
(B) Santhanam Comtﬁitt_ee_

(C_f Ashok Mehtha Committee

D) Dhar Commitiee

.::_mmm_.eﬂ ﬁusnmaﬁﬁw SC wdmph ST aa@ja;@ \n&&aT Ggrenguilen &quumuu’:’lm eEEER C‘Emm@m
aren e g Lo Aelss?
A udaps rmi GossT G
B),  apsrend @
(G} 2Gsmk Cogsm Gp
D)y srEw

36.  Inwhich one of the fo]_luwmg sessions of the round table cnnferem:e did the Indlan N’atmnal
' CDng‘rEss participate? '

' ' (ﬁ) First . - o . . (E/Secand
{C) Tlijrd _ (D) First and Secund

l@;ﬁ@m Gg;#]u_l asnmﬂlﬁmr a;m;ﬁgj Qemasr cul_L Guens- Lnrr'r_r;rr@ aTE)?
[A) @pﬂsm .- _ . T {B} @Uml_rrﬁug .
© weprug '_ ' D) o wip Prenk

LAGS/19 S 14 IR c



37.

38.

39.

Lala Lajpat Rai died due to
(A) gun (B) crowd ; :
{{v lathi charge (D}  knife

arer egudlyrd ool ne ermenors aﬁ?’.ﬂ,ﬁﬁg}l
(A) guumﬁ.ﬁ {(B) &iLib
(C)  @sSumd Sigbsd (D) &34

When did Rajaji start his salt satyagraﬁa in Tamilnadu?
(A) 204 March 1930 w130 April 1930
(C)y 3d August 1930 (D) 9t September 1930

SUOIPBT 1560, Trggmed 2.y &g@mﬁﬁqaﬁmﬁ erenmy Ggm_nudlenni?
(A) a2, 1930 (B) guged 13, 1930

(C) =ysavl 3, 1930 (D) Gelrwbur9, 1930

Which act made breach of contract a criminal offence and authorised the tea planters to

arrest a run-away labourer without any warrant?
{A) charter act of 1813

(Ba#® inland immigration act of 1882

(C) - charter act of 1833

(D) monopolies and restrictive trade practices act of 1969

T FUL D @UIUBSHISmET E.EHII_-LIUEJ glflflemey @HmDd eremmd G,%uﬁ]mm uuﬂﬂ@umﬁer;ah @ LGuren
Caumaun_semer eTps efls cunpam(ib Gaanod eosg Galwend eenmpw saflug?

(A)  1813-tb yeir(® UL L WIFSLLD :

(B) cdamm @ @ulubns b, 1882

(C)  1833-1b egpatnr () UL wida 1D |

(D)  wooflenw whpb erdenad@ UL aureasflub B g #1110 1969 I

15 - LAGS/19
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40.  Babur wrote his autobiography Babur-Nama in ————— language.
(A) Persian (B) Arabie

(C) Pushto . {MTU rkish

uruit gesgnyent i Fwsflensani e gl Gomgfl

(A) umés (B) spmblw

(C) . yesGLn (D) gmedu

41. Who among the following designed The Madras University Senate?
(A)  Christopher (B) Christian

{ C’ Chishom (D) Cheveliar

£C1p aramumeusigneT GClaamenean LI &Senaap s e enalenil ally GueniDSSeurT WiTT?
(A)  AflenGrmur (B) ddflevuswimen

(C) HSAevapmo- (D) QsCeucllwi

42.  Upanishads are the books on
{ﬁ;}_ religion . [Bv,. philosophy

(C) yoga (D) law

o LflLgriser eraTug Eseean ubhblu LEsstiseT
(A) s | (B) sagouid

(C) GCursnr (D) slLib

LAGS/19 ' 16 -



43.

44,

The first Defence EXPO to be held in Tamilnadu duﬁng April 2018 is at which district?
(A/ Kancheepuram (B)y Vellore

(C) 'Tiruva]_lu;: (D) Chenna

sl mrigd el Gup odrer apsad Urgsriy agenGur 2018 aps wreull gdla penGlum

."-*_mimﬁgj’?
(A) snEsflyrb (B)  Geugyr
e '@{Lﬁﬁu G - (D} Glsemenen

Which country has become the world's first country to enforce equal pay for women and men?
(A) Finland ' : : (B) France
(Cc), Iceland (D) Sweden -

e, Auer B melmasih sowrar saduh eramn FULGans o bl apgeblch Glanest(f qubs B[ ergl?
{A) Gemarks . (B) Sgremen

(C) mevarps _ . (D) evellen

Which of the following state will be hosting the 39th National games in 20227
(A Meghalaya (B) Mizoram

(C) Assam - (D) Nagaland

39eus Ceélw eflanamum’([H, 2022- @b erbs wirbleb FL§S o erang?
(A)  Gusenmwim (B) WiGsmpb

(Q)  sy&mb (D) prsarks

17 s LAGS/19
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: Qﬁ, The taller building in the world is _ .
(&)  Shanghai Tower, China ' (B) Burj Khalifa, UAE |
{Cy One Wﬂfid"l‘:ﬁdﬂ Center, U_Sﬁ’ (D). Lotte World Tower, South Korea |

gé}éﬂsﬁg tBl& £ WITLomen S lg L Lh *
(A) smmiEmO L, S : : - (BW uirgg selum, EySwr

HE) | o @& eUT§SE LD, GEofldsr (D)  orlieasaoub Ggdatardur

47, Which one of the following pair is not matched correctly? >

-{A} SﬁNK.ALP_ — Miniat_rj{ of Skill Develepment
' STRIVE®  _  Ministry of MSME

(@) SAMPADA - Ministry of Food Processing
(D) SAUBHAGYA - Ministry of Power '

@w:_jn@da maney #ALTS QU mESSIULslletenn

(A)  shsdl - - Spen eueTI SPWEEHED

B)  sgera - . MSME -ziepwésaid

)  sbugr - cawtey DAWLOTES e DFEHU )

k

(D) Geeansfwr .&é@ﬁms&ra&mmwﬁm

43,. The digital paymen:i; app. launched in I_ndia on September 2017

- (5 Google Tez . (B Paytm
(C)  Mobikwik ) (D) Gateway

' QEULIbLT 2017 & @'rjr;ﬁ]p.lrr.a&d: euatluflciu L gafiiod slc e Qewed
(AY  Google Tez (@Ea ALdv) . (B} Paytm (GLi.lq.eTL)

(Cy Mobi kwik (Gomd Sefla) (D) * Gateway (Gar Gau)

LaGSns . . 18



49,

6l.

TAC-1 Vikrant aircraft carrier is to be commissioned bi,r Navy during the year
{A) 2018 (Bi, 2020
() 2022 . (D) 2019

IAC-1 sfl&gm cilwren goviid GUumMalUme sLDLSSL LD aThE e Bl o deng?
(A) 2018 ) _ (B) 2020
(Cy 2022 ' - (D) 2018

The twa major political parties of U.S. A ave
{A) Independence and Demeocratje
{B}, Republican and Demuocratic

{CY  Democratic and Socialist

(D) Republican and Communist

N AT EER P P Eren @é:é]m. 2 18 Lch 51 Fasar
(A  FEhSTd OHD REEMUED
B)  @nuss opYD GETHTLISD

(O gemprusD whob sapsd

{IH | (&5 LTEF wHDLD &by afleu

“ﬁl-:} Ihaa been appointed as the new General manager and board of control for ericket in
India?

{A{Saha karim _ (B) MV Sridhar

(C)  Kapil Dav (D} Dilip Sardeasi

P AfEGs anflugdear dung Guararrs yBgrs Buioanb Geduli et wii?
{A) sunmafibo (BY MV adar

{C) &9 Ggen | (D) Sy snGgami

19 LAGS/19
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i,

A sum of Re, 312 was divided sonang 100 bovs and pirvls, cach buy gets Ha, 3.6, cach gir] gots

He. 2.4 The number of girls ave
EVENE S o

(GO (D) G

M Sitm 100 wrerey, @mavi iy, CES5E Candin ULLg. g oilarouisg e 3.600, T
omermadl &g ¢, ¢ 4D ElenSg T wiresn Gl T eTERTemT Sannn i '

R VI tBy, 10

{Cy G0 (N 65

In an examipation 35% of students passed and 155 failed, Total number of students

appeared for Lthe cxaminaton is
{A) GO0 B) GAU

G 700 : ' (m Tl

i Gerelldl 55 apelipd wramafsd: Gafluyedraent. 455 G.r Sardefl sen daart wrafle. Carefld
ERSE ETARTI QU}T'&,'@. BLS T 28T 1 15 R uTa&Tm‘fr'éﬁ]Eu;rran,;

iA) G {B) G630

{C) T (I 710

The cost price of 20 articles is the same as selling price of v articles, IF the profit is 25% then

the numhber of artcles is
(ay 25 By R

«f 16 (D) 15

*0 G:_n.—rgjn‘ saftan urrstier effenangn x dum@ml s el cflipaupd sunb. Gl wmo Feeisn 75%

srafan eflbm ok selldn e1eimertl densTens;

(A : (B 18 _
€y 16 Dy 14 ]
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o
o

Value of 28% of 450 + 45% of 280 is
(A) 152 - (B) 155

G 252 - (D). 225

28% @ 450 + 45% Ed 280-én Ay

(A) 152 B) 155
() 252 (D) 225
If Gl and b+-1~=1, then r:+l 13

b c a
(-"il 11 (B) a
C & D -1
{]4—%:1 LMD b'v.%:-'l aTanilen, C+-~i— LS
(A) 1 (B) a
© b @) -1

Three men, four women and six children can complete a work in seven days. A woman does
double the work a man does and child does half the work a man do. How many women can
complete the work in 7 days?

o 7 ® 8

(C) 12 (D) 9

ga(h @BAILEC L Ceuaneveni 3 painsdr, 4 Quamaer, 6 dmeuisear Carpay 7 prisefld. apy lium g
Quem, e Galun Caemal Gurd G wikg Cauema GCeleunt. G ﬁgmuairr' T A T
Caemanlld urd Ceenar Gaweunt arafie, 2Cs Caumaamw 7 prisafld wryes assaar Quamser |
Gsmauniu@aun?

A 7 ®) 8 )

© 12 @) 9

21 - LAGS/19
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58. What comes next?

(A)

(©

i (B SF U (THEuE eTeTan?

(A)

LAGS/19
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(B)/

(D)

(B)

(D)




59.

60.

61.

62.

In the series 7, 10,13, .... 20" term is

(A) 57 - B) 60
(C) 64 (D) 67
7, 10,13, .... erenp erawsatien auflensulildy 20-cug) erameanmmang)

b7 (B). 60

@A)
o 64 (D) 67

The age of a man is 4 times the sum of the ages of his two sons. Ten years hence, his age will
be double of the sum of the ages of his sons. The father's present age is

(A) 50 vears _ (B) 55 years
{w 60 years (D) 65 years

- gmeuflar sHGurangw sum@ seufler @@ wadseflen agselar s GaGprmamul Curd 4

wLRE odeg. 10 amLisagegn Gng weifla aug @o waaseflan awgsaien
sl BHptzresaul Cure 2 wLkiE L0 dafle, Sauflda sHCurasw auws

(A) 50 eygmrsser (B) 55 sumrusdr

(C) 60 eymLissen (D) 65 eugmLruaer

If x:¥=3:5 then (5x+3y):(16x~2y) is

A) 7:6 e6: 7
(C), 3:56 2 (D) 5:3
x:y=3:5aafid, (5x+3y) : (16x-2y) ez

(A) T7:6 (B) 6:7
€ 8:5 (D) 5:3

If a sum of amount double in 9 yeari then the rate of interest per annum is
(A) 9% % (B) 10 l %

{c).fn%% O -12-%

D= o

qm Glgrans 9 cumLmEatle) @i ourdlenms r:_rasﬂai}, suL 1. efil Sl gLomens)
1 1

A o= B 10—%

(A) 99% (B) 5

1 1
—% 12— %
© g (D), 125
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6.

64,

A mixture contains alcohol and water in the ratio 4 : 3. If five litres of water is added to the
mixture, the ratio becomes 4 : 5. Find the quantity of aleohol in the given mixture.

(A) 2.5 litres : (B) 12 litres
(C)y  12.5 litres : (P 10 litres

gm swamauls sdsaprgh garafme 4 0 3 AdssHgiconan. sssw@auyLer 5 S
Sasapraes Cersgn Qumups, ddsn 4 - 5 Hdpsy.  sruul e soaald sdsanreadlear
SACTENEUE FMTETE.

(A) 25&lii (B) 12&fiLr

(C) 12.5& L (D) 10&flcud

If the following figure represents the outer aurface of a dice. Which of the ﬁ::llcrwmg pairs is
not on opposite sides?
(5] 2 b 1

3
1
(A) "1and3 ' (B) 6and5
(C) 2and4 (#”1 and 4

Spssrenbd @gad @@ snus sterwbda Cod urieu sl (Bdps. £Cp Qsrastu’L
Beensdfla ag adiusshsels simowung Beoen?

1
6|25
3
4
A 1 @mm 3 ' (B) 6 wpmd 5
€ 2uwpmb 4 (D) 1wpmo 4

LAGS/19 _ r S



What is the value of the Bohr radius of the electron in the ground state of hydrogen?
4) 1534 ' (B) 0.35A
(Cw” 0.53 A (D) 3.15 A

&EnOC L en@nl TEe < any el g emer srsu.!s‘.;urreﬁein Gt sy rédlar W& O eramean?
(&) 1.53A (B) 0.35A
(C) 053A (D) 3.154

Match List I and List I correctly and select your answer using the codes given below :
List I List 11

{a) Diabetes 1 Immunisation
(h) Marasmus 2 Blood w;iscular treatment
(c)  Booster doses 3. Protein deficiency

‘ -(d} Angioplasty 4 Inzulin

(a) (b) (c) (d)

i 4 3 1 2
(B) 2 1 3 4
(C) 3 2 S 4
D) 4 1 3 2

uliguid I = UI-_I.-:l_U_IEII; I 2 e Gummsdl £Cyp Gar@asuuGearer gilliBamads Cerem (b sflwumer
ehlen_sanend Carbllsh

e | - L g 1T
(a) epLwiigei 1. sHogs Sl b
(b) pTevLDED 2. Qirsss Gl fglsens
(c) =msEelliy SHOLLE 3. yrs gepun(y
(d) =EsflCunSlanmaniy 4. [@lemmedlem

(a) (b) (@ - (d)
(4) 4 3 1 2
B) 2 1 3 4
(C) 3 2 1 4
(D) 4 1 3 2

25 : LAGS/19
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67.

68.

Match the f'oﬁnwing :

Plants _ . Movements
{(a) Mimosapudica 1k
(b) Oxalis 2,
{(c) Drosera 3.
(d) Tulip 4,
(a) (b) © (@
of 2 1S 3
(B) 4 2 1 3
e 3 1 4
(D) 3 1 2 4
Epaasam_cubenn Glummsss
BTGB &ET DS -

Photonastic movement
Seismonastic movement
Thermonastic movement

Thigmonastic movement

(a) QpmiLne Agpid 1. JSCunlCLreamevg s Sensay

(b) wewdyafiFsrean 2. SleavCuorenmenig s siensay
(¢} wGomélgr 3. QarGuoreanreigé semee]
(d) giells 4, ﬂé;{}mrrmrrra'mq_é; DG FE

(a) (b) (c) (d)

A 2 1 4 3
®) 4 e 3
© 2 3 1 4
(D) 3 1 2 4

What is the life of Red Blood Corpuscles?

(M 120 days (B)

(C) 400 days (D)

Arsss Haily Sigpssalian aumpEmiser ereéseuarey?
(A) 120 pmiser . (B
(C) 400 priger ' i (D)

LAGS/19 26
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69.

T1,

The catalyst used for the preparation of Teflon is
(A) hydrogenperoxide (B) mickel
fd benzoylperoxide ' (D) sodium peroxide

A twren swrilésuuwenu{in eblenan parddl
(A)  eaplrmer Qurgréensn () (B) Masa

(C) Quensmible Quﬁﬂnémﬁ@ (D) CGamguwib Quagrsmen(h

The antidote for organophosphate puiac.bning 18
(A)  Pyridine |

(B)  (BAL) British Anti Lewisite

I.'CV Pyridine aldoxime methiodide

{D) Acetylcholine esterase

2pr&EGeanmunrauGul eflassdlpara el iombal
(A wUiflgen

(B) (BAII;} WA g e apeimg gimuSlens

© ufgen oo rsmenid QuasCuraL ()

(D) - aflen @ Qemeven sreivl_L Ciyei

The world highest road had been constructed in between
(A Manali to Leh (B) Agra to Mumbai
(C) Bikaner to Jaisalmer (D) Pune to Nasik

2 @den e winren srene @apHipE @ Cw s L LUl Hetarg?
(A)  wemrallldlmpba Gas sueniy (B)  siasgrellellinba qplbens) auenly
(C)  Garefflellmpe Qgiandnt ey (D) yCenelleflimba mrdlé eueny
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T2 “Twisters” are otherwize known as’
(A) Tsunami (B) Land slide
- (C) Earth quake [[M‘urnad{)

L (Hefle. fmer Geuaumpms sifluiuiéenns
(A)  sermdl (B)  fladafla
(C)  HanBasn D) QLnpeomGrm

73.  According to the world meteorological organisation cyclone is recognised when the wind
speed exceeds

(AWl 63 kph (B) 70kph

(C) 75 kﬁh (D) 100 kph

o s arafleaa %mmﬁlﬁlﬁ ug @oreall eraug stpflen Causb senrellng
siflafla@d Curg samHluiu@ddans

(A) 63 8.8/ weef | (B) 70 4.5/ wesh

(©) 75 8.8/ we : (D) 100 £.18/wenf

74. The government of India's expeﬁditum 15 classified as follows
{A’ Plan and non-plan expenditure
(B)  Developmental outlays and investment outlays
(C)  Defence expenditure and internal expenditure

(D) Consumption and capital expenditure

Spsanm_auimy Bhdu swemiissfean Qsadlamsar augsaiiuBfanmen

(A) £ wphmib S0 Sl Clevey : ’
(B)  euenédl wpmib psed () Cawey

(C)  ungamiy whmb o aprl{ Hewmey

D) mste) womd gpage dewe
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© 75, . In whichyear the agricultural price commission was set up in India?
(A - 1962 - (R} 1963 |
© 1964 | (oW 1965

@,m,éjau meléh elleusmy elenadiew aThS eu(HLLD ﬂ'jbu@;galhul'_{_@?
(&) 1962 . (By 1963
@) 1964 ; ' (D) 1965

76.  All the ekpénditure from the consolidated fund in tﬁe.annual finanetal statement to be voted
by the_Lok Sabha are submitted in the form of demand for grants in pursuance of
fAY g Article 110 of the constitution - |
{B) Article 111 of the constitution )
(C)  Article 112 of the constitution

(D3 Article 113 of the constitution

;ﬁ],@ Caeneubsns .meiaaam%n‘z.s'uuﬁ;sb %mr@ fidlfleana ibléons Smﬁutﬁli.muuﬁ@ el poy sugd
Qurrg.l RB SR (FHH Sienandg Asvasmanyb Ceibug | ' '
(A). eg{rjﬁu-mmm_lj_u llﬂ_sugj Aifley

®  srfueeny 111 cug Gifley

{C) QIUQUJ.GJ@;}LQI'JQ 112 sug Gifley

(D) sirflweesoly 113 sug il

7. The famous book, “Law of the increase of state activities” was written by .
(A " R.A Musgrane (BVAdalph Wagner
{C) Prof. Shirras S {D) J.R. Hicks

B T [BLGullq Sen S e é{ﬂaﬂuugﬂmnm FULD" erenm Sblalumm EED WImyTed SLpE I L 7

(A) i waudCrd . ' (B)  maLmédoll euitdypit

Q) Cupndfuwd fnae D) Ceysmyi el

= | | o 29 o - LAGSNY
' ' : : [Turn over



I

78.  Which of the following Article says that “when the state of emergency is in operation, the
parliameént ¢can make laws on the state subject"?

{A)  Article 249 e Article 250
(G Article 252 | L (D) Article 253

aqeum;rﬁlmsu 15]!]E-L.EIIILD Qewdun’ 4é Gmésnd Curg wrble Ulywd aﬂan;mﬁ uwu‘n@;mmmm
gl wrgawmnd aeagy £pdsam ops airfiuamn il B sapdog?

(A)  oBf 249 _  (B) &4 250
(©) o 252 (D) e 253

79. Which one of the following article sajrs about the protection and mpmvement of
environment and to aafeguard forests and wild life? )

{A) Article 39 {BY Article39 A
{_C) Article 43 A ' (Dfﬂrticle 48 A

SipsaemL b ahs el Erﬂ}mjﬂz@g_lﬂl urgaEmiy, Gwbu@sgss Gogid a;n{},‘:asm L HmLD
euemefiarii@ LnglamugL ubbl mﬂﬂg}@‘?

(A) o4 39 ‘ B) 98394
(C) eHP43A | D) A48 A

80. Soli Sorabji committee is related to
{A) Reforms in Criminal Law
(B) Administrative reforms
(C) Military activities in border area -
(D), Reforma in police law

Conadl Qe Gy TEGILT FDLGSOILIL L &7
(A) @EdHpeliud s frenody

B) MAieurs Sremoliy .

(C) adeaCuny Brrgno ptugEas

D)  arcudgop s L& Spepouyy

LAGSNS 30 ¢



81.

az.

B3

Which of the following Article of the constitution deals with the waters of inter-state rivers
and river valleys?

{AY  Article 260 {B) Ar;iele 261

-~ udl Article 262 @) Article 263

SpeeamL - sirflusembiys sl dfsdlle ap wrielsgss Heodorar wome 5
LTS HE G @RS Fer ufeoran pd B limhsn LDGlurg '
(A) <4 260 (B) =blfl261 -

© ageer | @) 6H263

- Which of the following Articles empowers the Preeident to make proclamation of emergency

if he fecls the security of [nl:ha ie threatened by war, external aggression or armed rebellion.

(AW Article 352 (B} Article 353

(C}  Article 3564 - (D) Article 355

Eeduneld urgsrind e Gurd, Geusfipri (B LaL abuly whHpD ﬁ,u.[ﬁu: S mme ApaILONE

LUHE UGS A THETED (g LITHS mwm@&@ oThE FLUL eE!,ﬁ Sisusy flenaw SrsLemlubss

- siflanyi gt GHng?
(A)  ofd 352 (B) 551@ 353
© AP35 - O B 355

Which of the following article says that all the ministers appointed by the president on the
advise of the Prime Minister

(A)  Article 53 (B) Article 53(1)
(xS Article 75(1) M) Article 74

&mmﬁg S EFTHFHLD Lﬁlvﬁmrﬂm %@wnemmuﬂlﬁr Gufld gemndug ;ﬂumeme AEE TG

. erenugamen &paumb arbg i f GHLIGEDS.
{A) B 53 (B) <HH53(1)

© aH75(1) D) P74
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B4, V.D. Savarkar organized the *sccret society” namely
(A) _Lundun saciety (BY Anusilan Samiti
' Abhinav Bharat (D} Jugantar

V.D. sourrgal simwngs ‘@osflug shegdlar Guwt
{(A) e Gemanslg ' (B) sgFaan silg)
{Cy =faew s (I mraren i

85. As perthe directions of Mahatma CGandhi who among the following was the first to launch
the individual Satyagraha in 1940

{AY dJawaharla] Nehru.
(Bj’ ¥inoba Bhave |

{C) ' Rajagopalachari

(D) - Jayaprakash Narayan

LELSAN aarr.gglui'lﬁh'r Fllemarig 1940-1b syanl galpur ssdunrdyapsms Qpé;sﬁlé; gje.ua’aﬂmmr'r'
WA ? _

A)  meugptard Cms

(B} OCpmumunGe

(Cy | @oemGsrumamésmt

(D)  QguiGpsncy prymusmn

86.  Which year Gandhi-Irwin pact was signed?
(&) 1930 ' : ' (Bs/ 1931
() 1933 (D) 1932

FTpd-Greflen pUUBED eQumiud Bl L e aE?
(A 1930 (B) 1931
{.C'} 1933 (D) 1932
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88,

In which year Dupleix, the French Governor of Chandernagar was promoted as Governor of

. Poﬁdichérr}f?

{A) - 1735 ' B B 1740 -
ol 1741 D) 1744

ahE euIEL D &6 & ppranfle: Ndregs FHEOTENTTE @@,r_ﬁg} L GGar unem g FEefl seuramyrs Legall muaiay

Quppai?
CU(A) . 1785 o o ®) 1740 |
{C}I 1741 - a N D). 1744
Ass;ertion (A) The Government of India ;Jassed | _resc@utinn on lnu_:ai seif gpovernment in
_1918 | ’ _ |
Reason ._(R}- : There iz shortage of good ]_:'mcrks an the Sll.-bjﬂl;t fﬁf Local self:go?érnmeﬁi;.

{A) .But.h {A) and (R) are true (R) explains (A)

. (Bl Both {A) and (R} are true (R) does not explain @}

(C} (A)is true and Eut- (R) is false

(D) (A)is false and but (B) is true

Faby (A) 0 1918-d wememld pepewul updu  Srworebes QEdw  mrerhisbn
| Qeuafuil L g | -
smrern () : ﬁ.dT;r'fﬂLAﬂ [;I:lﬂmﬂ',!l LBl Beey q;ii;ﬁa;rha';é‘r.lﬂsﬁs_ (EENMHEUTS & GTama

{A) | (A) wimb (B) @qﬂr@@m #f. Cugin (R) sramugy (A)ehlhE silwmer eflendan -

By {A) L:Q,liaggn (R} @qé’m@@m &k Gm@j&: (R) m;hu@ {(Adefriyg aflwimesn el endsind o

(© (&) s e ®) saum

(D) (A) poug spemreo (R) sl
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89.

91.

How many years did The Justice party in Tamilnadu remain in power

(ﬁn’ 13 years

(B) 15 years

-(C) 11 years

(D) 14 years

Flper g BHEsT A crisaman syamhaa ugel adsss?
(A) 13 eu(pL_riser

(B) 15 eymruser

© 11 aupLrissar

(D) 14 auprmsar

Robert De Nobili changed his name as
(A) Christava Thondan (B) Thathuva Podager
(C)  Christava Margan _ {Df?eerama Munivar

gmui_-g-GEmId geng Quweny Beveungy wrpHlaQaramm.
(A) dflevgen Qe . (B) spgeu Cungan
(C) eﬂﬂ]aﬁ;ﬁm WO & T (D)  efmorapafleur

I':luw many phases of Lok Sabha polls conducted on 2019 elections?
(A) 4 B) 5

© 6 i o 7

2019 Garé sur Caigeile erspenan sLLkusams Caigd perL Quipmiatens?
A 4 (B) 5

© 6 ® 7
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92,

93.

94.

The Aryabhatta Research Institute of observational sciences is located in which state?
{Afl Uttarkhanﬂ (B} Andhra Pradesh

(C) Kerala _ (D)} Punjab

spiluucer entf udley efleflwd eyrmidd flmsuend aThs LHlRSSHE SennhEarang?
(A)  osfpemam. (B) =updly ArGsan

(C) Gagern (D) uLiggaml

When is the data protection day celebrated ?
(A) 26t January (By 27thJanuary

(C)/ 28th January - (D) 29t January

SEaUe LUTgETUL| Brer creny GamemmUu@4ns?

(A memeufl 26 . (B) meweufl 27

| (C)  mameufl 28 (D)  memeufl 29

Which State hosted the 3 edition of science film festival of India 20187
(A) = Maharastra : ':BJGUB.

(C)  Tamil Nadu () Mumbai

Jeug @A sifleflwe Hepliu eflipr 2018 eris wrblend FLSHIwE?
(A)  wanmyraslFT ' (BY Gameum.

(C) sdprrd (D) qpbum
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85.  India’s first runway on seabridge is to come up in which statefunion territory? -
(A) Andaman and Nicobar Island . (BW Lakshwadeep
(C) Mangaluru ' () Andhra Pradesh

Bpdwireller Qpgd sLH Lima @[_T-}urrmﬁ o il weilwen SnGpesfld siamwssluL. o drag?
(A  ipswrer flaGerur Sey (B) alsssay -
©  wasEm (D) aubly GrCasn

96. Who eﬂited. the book “The wayv I see it : A Gauri Lankesh Reader™?
{A)  Abdus salam puthige
{B) Chakravarthy chandrachud
{Cw Chandﬁnguwda
() P.Lankesh

"8 Gau p £ " gl @riCacy AL arérp Lggasmg AEN@GESeuT W(?
{a) aﬁgaﬁ&wnm LSHCs

(B) sEsgauidh spfom

(C) ar;},;rrsh_a;eqn_n

(D) ﬁ.m@@&eﬁq

97. Who is the first female Mayor of Capital City Rome?
(A ‘ Margarett '[B/Virg'inia Raggi
(C) Dia mirza (D) Diana

Combd paErssen 1phd QL Guowi wm? _
{A)  waraseQdrl | 13 shrgdlaflwir prid
©) cwrdagr (Y wwrena
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98.

99.

100.

Which city 15 hasting the Himalayan Hydro Expo 2018
{A/ Kathmandu (B) Shimla
(C) Gangtok = . (D) Itanagar

&5 Baq Ewromuean eapt Cor gaavCGur 2018 5L 55 = drarg?
(A) srsoran® ‘s 3 (B)  Hfibeon

(C) Cading @ A (D) sl nmai

Project Mausam is the initiative of which union ministry?
(A) Ministry of Panchayati Raj-

(B Ministry of culture

(C) - Ministry of human resource development

(D) Ministry r_mf Health and Family welfare

wneisih £ ib erhs Siendamsidn puhH?
(A)  LEREmLS TTE SieNDEFEID

(B) sanésrr senwdasid

(C) wellg eier Cuobun( Sienwdssnd

(D) 21 & wHmbGHOLUBRD S@WFFSD

Who appoints the Chief election commissioners of India
{(A) The president of India (B) Prime minister of India
(Cy  Chief Justice of India (D) Chief secretary of India

Ebdwunellen ganavenin Cairgd spemeanmueny Hlundiug wmr?

{M B6du menrdlud (B) @pswu Qgswon
(C) @sdusaaan fduf _ (D) @ErAu smwemw Gswanarn

37
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